

Answers HW textbook p. 596 #2 - 12

2. -3

3. $\begin{vmatrix} 1 & 4 \\ 7 & 3 \end{vmatrix} = (1)(3) - (4)(7) = 3 - 28 = -25$

4. $\begin{vmatrix} -3 & 1 \\ 5 & 2 \end{vmatrix} = (-3)(2) - (5)(1) = -11$

5. $\begin{vmatrix} 6 & 2 \\ -5 & 3 \end{vmatrix} = 6(3) - (2)(-5) = 18 + 10 = 28$

6. $\begin{vmatrix} 3 & -3 \\ 4 & -8 \end{vmatrix} = 3(-8) - (-3)(4) = -24 + 12 = -12$

7. $\begin{vmatrix} -7 & 6 \\ \frac{1}{2} & 3 \end{vmatrix} = -7(3) - 6(\frac{1}{2}) = -21 - 3 = -24$

8. $\begin{vmatrix} 4 & -3 \\ 0 & 0 \end{vmatrix} = (4)(0) - (0)(-3) = 0$

9. $\begin{vmatrix} 2 & -1 & 0 \\ 4 & 2 & 1 \\ 4 & 2 & 1 \end{vmatrix} = 2 \begin{vmatrix} 2 & 1 \\ 2 & 1 \end{vmatrix} - 4 \begin{vmatrix} -1 & 0 \\ 2 & 1 \end{vmatrix} + 4 \begin{vmatrix} -1 & 0 \\ 2 & 1 \end{vmatrix} = 2(0) - 4(-1) + 4(-1) = 0$

10. $\begin{vmatrix} -2 & 2 & 3 \\ 1 & -1 & 0 \\ 0 & 1 & 4 \end{vmatrix} = 0 \begin{vmatrix} 2 & 3 \\ -1 & 0 \end{vmatrix} - 1 \begin{vmatrix} -2 & 3 \\ 1 & 0 \end{vmatrix} + 4 \begin{vmatrix} -2 & 2 \\ 1 & -1 \end{vmatrix} = 0(3) - 1(-3) + 4(0) = 3$

11. $\begin{vmatrix} -1 & 2 & -5 \\ 0 & 3 & 4 \\ 0 & 0 & 3 \end{vmatrix} = (-1)(3)(3) = -9$ (Upper Triangular)

12. $\begin{vmatrix} 1 & 0 & 0 \\ -4 & -1 & 0 \\ 5 & 1 & 5 \end{vmatrix} = (1)(-1)(5) = -5$ (Lower Triangular)